EIGER A ICLHIE- 13 Terme | Rechnen mit Variablen

Verbindung der 4 Grundrechnungsarten

Arbeitsblatt
1 3x:5y—2x-4y =
2 12xy — 8xyz : 4z =
3 (14a — 6a) -3b — 5ab =
4 8abc : (12c —5¢c+¢) =
5 (14xy — 6xy) : 2y + 2x =
6 (7a + 4a) - (5b —3b) =
7 21y —7y) - (12x : 2x) — 20y =
8 3x-4y + 2xy — 13xy =
9 25a:5a—4+12b:3b =
10 [4x - (15y —9y)] : Rxy + xy) =
11 (12ab + 7ab — ab) : 6ab =
12 (16x —14x) - (12y — 10y) =
13 12abc : (abc + abc) — 4 =
14 (9xy — 3xy) : (62 : 2z) =
15 30b — (4ab:2a) + b =
16 [Bxy + 2x - (5y +3y)] — 2x - 2y =
Losungen 6x L 5 D 19ab R 20xy R
ab I 29 E 7xy A 2xy B axy E 3 z
8 E 84xy N Xy D 22ab ] 10xy P 6 M
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